
Anlage 9 Numerik 1 (SS 2022)

QR-Zerlegung

Schleife i = 1, . . . , n:

Setze τ = a2ii + · · ·+ a2ni; σ =
√
τ .

Ist σ = 0, so ist A singulär → Stop!

Setze α =

{

σ für aii ≤ 0,
−σ für aii > 0.

Setze di = α; β = 1/(αaii − τ); aii = aii − α.

Schleife k = i+1, . . . , n:

Setze γ = β(aiiaik + · · ·+ aniank).

Setze ajk = ajk + γaji, j = i, . . . , n.

Setze γ = β(aiibi + · · ·+ anibn).

Setze bj = bj + γaji, j = i, . . . , n.

Schleife i = n, . . . ,1:

Setze bi = bi − aijxj, j = n, . . . , i+1.

Setze xi = bi/di.


